?1 ch fpu\t-@

Samstag, 25. Oktober 2014 13:57

{:)—OMI
W ff = 230V
N
w T 3V

o, )

L

IZI 2’77 SOHz - 3"”\“

Awt :> W
R

dlE G fepibent
T /'/;\ Acr GVWL)\ SCA\A. Aju’f\ 39»\
N
P = M{PF _ M
Ders RZ M
T
FB{" hohezo ;A%GL’L\ oK~ Sn,u,&g'.
5 LA Lt
A/l\ /,\ lc{F

Neuer Abschnitt 1 Seite 1



EQ\’[ )/l'h

X = \/(/\{(L C(;J(,L W‘.kl(Qr(/

'1:{‘[ Ader /’\zsscyf o >en

Ao glitube U({)
]

Ao 250 o B0 f>

Neuer Abschnitt 1 Seite 2



- w(mk) 1
T (50#e]

1 2 7
s her R= U(s0H) 4‘“(470/“L)+u(250“2)2,'_

)

/[ﬁ (50 HZ]’—H’(/ISOM.L)Zﬂ,‘(zish)".,..

Neuer Abschnitt 1 Seite 3



